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* https://docs.scipy.org/doc/scipy/reference/tutorial/opt
imize.html
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import numpy as np PaFise AaF,
from scipy.optimize import minimize

def rosen(x):

The Rosenbrock function
return sum(100.0*(x[1:]-x[:-1]**2.0)**2.0 + (1-x[:-1])**2.0)

x0 = np.array([1.3, 0.7, 0.8, 1.9, 1.2])
res = minimize(rosen, x0, method="'nelder-mead’,
options={'xtol": 1e-8, 'disp': True})

print(res.x)
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« Windows /\Y  1>ZFES5EE
B & U T [pip3install scipy] ZZE1T
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BIZE{R & U C [sudo pip3install scipy] Z3E1T
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o import numpy as np o AR
from scipy.optimize import minimize

def rosen(x) :
“"”The Rosenbrock function™””
return sum(100. Ok (x [1:]-x[:=1]**2. 0)*x2. 0 + (1-x[:=1])*x*2.0)

X0 = np.array([1.3, 0.7, 0.8, 1.9, 1.2])

res = minimize (rosen, x0, method="nelder-mead’,
options={ xtol  : 1e-8, "disp : True})

print(res. x)

> Optimization terminated successfully.
Current function value: 0.000000
[terations: 339
Function evaluations: 571
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